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QUESTION 1

How is a BGP Layer 2 VPN prefix formed by a PE? 

A. by combining the route distinguisher and vrf-target, in that order 

B. by combining the route distinguisher, remote site identifier, and site identifier, in that order 

C. by combining the route distinguisher, site identifier, and remote site identifier, in that order 

D. by combining the vrf-target and route distinguisher, in that order 

Correct Answer: C 

 

QUESTION 2

You want to use IS-IS on a GRE interface where the underlying Layer 3 MTU is 1500. 

Which statement is correct in this scenario? 

A. IS-IS can be used because every IS-IS interface must be capable of transmitting packets at least as large as 1476
bytes, and the GRE header is 24 bytes. 

B. IS IS can be used, but the networking device directly attached to the circuit must be capable of fragmentation. 

C. IS-IS cannot be used, but the router can enable a GRE key that serves the same function as IS-IS. 

D. IS-IS cannot be used because the IS-IS hello is not allowed to be fragmented and has the DF bit set. 

Correct Answer: B 

 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. A BGP full mesh is only required between PE-1 and PE-2. 

B. A BGP full mesh is required between P1, P2, PE-1, and PE-2. 

C. MPLS must only be enabled on PE-1 and PE-2. 

D. MPLS must be enabled on P1, P2, PE-1, and PE-2. 

Correct Answer: AD 

 

QUESTION 4

Click the Exhibit button. 
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Which two statements are true about the route shown in the exhibit? (Choose two.) 

A. The route is currently active. 

B. The route is currently hidden. 

C. The route has an unreachable next-hop. 

D. The route is currently being damped. 

Correct Answer: B 

 

QUESTION 5

According to Juniper Networks, what are three methods of scaling Layer 2 VPNs? (Choose three.) 

A. inbound route filters 

B. route reflection 

C. outbound route filters 

D. filter-based forwarding 

E. BGP route refresh 

Correct Answer: ABC 
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